Training
TQUK Functional Skills Qualifications UK

Qualification in Maths at Level 2

Examination Paper (Sample Assessment Paper 2)

Please complete the details below using black or blue ink. Use BLOCK
CAPITALS.

Learner Name:

Learner Number:

Date:

Centre Name:

Instructions:
Read each question carefully

e Answer all questions
e Write your answers clearly in the spaces provided
e Check your answers.

Information:

e This examination has two sections. These are clearly labelled

e You are not allowed to use a calculator for Section A

e You are allowed to use a calculator for Section B

¢ The maximum mark for this examination is 60

e The marks available for each question are shown in bold beneath each question.
ltems:

¢ You will need a pen with black or blue ink, a pencil, a ruler and an eraser (for
diagrams, graphs and charts only)
You will need a basic calculator for Section B only

¢ You will not need any other stationery or equipment.

Time allowed:

30 minutes for Section A (Non-calculator)
90 minutes for Section B (Calculator)

Do not open this examination paper until you are told to do so.

For examiner use only

Marks available | Marks awarded Second marks
Section A 15
Section B 45
Total marks 60
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Section A: Non-calculator

There are 15 marks available in this section.
You must not use a calculator in this section.
You will have 30 minutes to complete this section.

1. Work out 0.872 + 0.15

-7 2
o.) S0

) -0 2 2
! I

Answer [ - 0270

[1]

2. Work out 2.205 x 4

2 2 O S
< Lf' 8.320
3 3220

Answer | ¢ . g

[1]

Questions continue on the following page
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3. A cyclist cycles 3 miles in 10 minutes.

What is the cyclist’s average speed in miles per hour (mph)?

2 miles — lomMing
s(\a(A >x(o
(¢ miles —2&& ™Mins

Se 14 miles In one Weu ¢

Answer lg mph

[2]

4. Write 0.86:
(a) as a fraction

(b) as a percentage.

e

b) P t : /o
% (b) Percentage: < ¢ */

Answer | (a) Fraction:

[2]
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Jordan goes out for lunch.

The bill comes to £20

Jordan wants to leave extra money as a tip.
The extra money is 18% more than the bill.

What is the total amount that Jordan will pay?

/-t 420 15 20=108 = L 0-20
l%-f- k110 (s 20.20 xi8 =FB-¢o

Totol s 20t £2. b6 = E%R3:-60

Answer | £ ) % -

Questions continue on the following page

[2]
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Work out the median of these numbers:

5000 3000 2500 4250 5500 6600

150606 200686 (1S5S0 S006 5500 (6060

4 1S
medtion = "F_’Lso/‘l’so—b—o 2 lC\'Z S|O
2

- Q150
—
2

= 4L 62S

Answer | 4 (2 S

[2]
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A map has a scale of 1 : 50 000
A school and a supermarket are 2.5 centimetres (cm) apart on the map.
How far apart are the school and supermarket in real life?

Give the units in your answer.

560060

1S % S00060 = 1250060 -0 <™ in cea) life X ) <
4 250000

[ oo oo

\ 25006 060

Answer | 195 6505 cmn

[2]

Questions continue on the following page
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Each pizza is cut into 8 slices.
s
On the first day, the staff eat 3 whole pizzas and 5 additional slices. <— % 7

On the next day, they eat another 10 slices of pizza. « '©
3

A company gives its staff 6 pizzas to share.

How much pizza is left after the second day?

Give your answer as a mixed number.

- (330 3)

R

-6 — A
3
-4 _2a - 1
S < 23

Answer

w |-

[3]
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End of Section A.
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Section B begins on Page 8.
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Section B: Calculator

There are 45 marks available in this section.
You can use a basic calculator in this section.
You will have 90 minutes to complete this section.

1. Put these numbers in order starting with the lowest:

-865 811

—820

~814

Show any working here:

— S — — % — %)
Answer 86 820 814
Lowest > Highest
[1]
2. There are 2.54 centimetres (cm) in 1 inch.
How many inches are there in 127 cm?
2= 2-S4 = So inches
Answer SO

[1]

Questions continue on the following page
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3. Calculate 122 -3 x 2.1

115 2 A \2 T kg

by — 3%
= b4 —6-3
= 130 -7
Answer }27 -0
[1]
4. Write down the coordinates of the point labelled on the grid.
I
8 - '
S 8 SN N N N S - ’
6
5
4
3
i 2 -
1
8-76-p5-4-3-2-11412345 6T 8
— L al L L L L 1 1 .
; 3
‘ -4
5
5
7 e
-8
Answer (-5, 2)
[1]

10
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Work out the value of angle A.

Not drawn to scale

120°  120°

260 — 120 —120 - g0

- 4o

Answer

4.0

Questions continue on the following page

[2]

11
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A garden has a circular flowerbed in the centre.

The diameter of the flowerbed is 1.38 metres (m).

Children make fairy lights to go all around the edge of the flowerbed.

The total length of the fairy lights is 4.5 metres (m).

Are the fairy lights long enough to decorate all around the edge of the

flowerbed?
Show how you decide.

Use t =3.14

leconnfbrtr\ce = %0y x1-33
T Y r3322m
l*28m
/Y

U Yes 45 m 1%, @novgh

Answer

Yes

[3]

12
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The total area painted was 91 m?

Charlie now wants to paint the bedroom walls.
The total area to be painted is 78 m?

Charlie has 11 litres of paint.

Does Charlie have enough paint?

Show how you decide.

Charlie recently used 14 litres of paint to decorate the living room walls.

E o \Hve covers A\ —I14 = C-Sm" C"‘(;NO‘H

Fov dhe livivgy reom he needs T = 6-S = (2 Litves

T

No, e deesn' £ have 2novghh

Answer

No

[3]

Questions continue on the following page

13
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8. Morgan is planning a holiday and finds this information:
Greenland Average temperature 14° Fahrenheit (°F)
Iceland Average temperature —11° Celsius (°C)

Morgan wants to go to the warmer country.
Which country should Morgan go to?
Show how you decide.

Use: C = @

Where: C = temperature in degrees Celsius
F = temperature in degree Fahrenheit

Ie_m\:.~ in “C tn C,’tef\lomd ) gx(lq-—SZ) — w j—i\f_ = —-ID’C'
i —
aQ R

(=]

CGreenland S warmer

Answer Greenland

[3]

14
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9. This year, Jo’s gym membership price has increased by 5%.<— looc /4 + 5/
— loS°/.
The new monthly price is £33.60 - 1-0%

How much did Jo pay for an entire year's membership last year?

12266 — 1:05 = L1 per monkh last yzar

Y(ar|3 price \ast Year = {27 % L
=£3%4

Answer | £ 334

[3]

Questions continue on the following page

15
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10. An athletics club awards points each year to its members.
In 2021, the club awarded its members a mean of 90.3 points in the year.

The grouped frequency table shows the points the club awarded its members in

2022:
Mid poink
Number of points awarded Frequency |smidpont | x frequenty
0 < points <40 7 20 20x1= 40
40 < points < 80 34 40 Lox B4 - opo
80 < points < 120 100 loa |eoxiso=10g00
120 < points < 160 9 lgo | Iyoxq Z1ZLpP
Total 150 Foral - 13946

The club president says:
‘The mean number of points per member in 2022 has increased since 2021’
Is the president correct?

Show how you decide.

Wean Gor Y2072L = sy g0 —150
= %4-6

|

N6, \Was rok wneceased Simee 0T

Answer | N o

[4]

16
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11. Hayden is organising activities for 80 students going on a school trip.

The ratio of the number of students who can participate in swimming,
rock climbing and go kartingis5:3:2

Complete the activity list for Hayden.

Activity Number of Students
Swimming G0
Rock climbing 24
Go karting A
Total (20}

Show any workings here:

Sx2+72 = \6 ?"‘cf) In bokal %, lo P&V\—S = Zostudents 2 =10

=\ l Fo\f‘t = % S‘k UC’\(V\kS

v ) ~
S paiks = 5Sx% SFo‘"Csz 2x 3 2 3411:5:27&8
—cto skudenks =724 Skvdants = b skudenis
= )
Sww\mm9 Cl("‘b”\(ﬁ go karking

[4]

Questions continue on the following page

17
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12.

Harper is a manager of a company.

Last year the company made a profit of nine hundred and seventy-five thousand
and fifty pounds. 4 915 0S®

. , . . .g/.= 62 SY.
This year Harper wants to increase the profit by 3.5%. «—— 1007= + > s/ _ (fozs
Harper thinks the new profit will be more than £1 010 000
Is Harper correct?

Show how you decide.

,{cms 0So %X (-02S = 10011615

Ne, nok more bhan F 1010 060

Answer | N o

[4]

18
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13. A delivery driver keeps a record of the number of miles per gallon (mpg) their car

achieves each day.

These are the results for week 2:

Monday | Tuesday | Wednesday | Thursday | Friday | Saturday | Sunday
30 38 22 37 40 32 39
This is a summary of the results for week 1:
Week 1

Mean mpg 32

Range 16
The delivery driver claims:

a) ‘on average, the car achieved more miles per gallon in week 2 than in week 1’

b) ‘the miles per gallon achieved in week 2 were more consistent than in week 1.’

Are each of the driver’s claims correct?
Give reasons for your answers.

Show your working.

Show any workings here:
Meawn .Eor week 7 = 'L'L% -1 = %q, X

vangt for wee k2 - 46— 22,= 13mpY

Comment regarding claim a)
Yes - mean mpo IS ]mjlr\v’ In e k2

Comment regarding claim b)
No — voroR .Fcr week 2 (s \/\\3’[\11—, so less wonsuskent

Questions continue on the following page

[4]

ol

53
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14. A nursery asks Cameron to make 50 cylinder-shaped toy blocks using this
design:
- __@_cm
T . Mot drawn to scale
e ey |
12 cm

v

‘\____—.____,/

When the blocks are made, Cameron needs to paint them using glow-in-the-dark
paint.

Each tin has enough paint to cover 1150 square centimetres (cm?).
How many tins of paint will Cameron need to buy to paint all 50 toy blocks?

Usem =3.14
4op ’/ba-H"oM curved ‘Cd\ce.

e

A B \emmm —~ —
Sur{a\te avweon of C-j\mdcf = 2ux3%3 x2 F 2eyxAxzxiz

=3S6:52 * 27¢ -03
= 2%2 - Gomt

(8
-T_O‘,'dl SU'{O\CQ TR O {G( d\h S6& b\o(_ks 1s So X 13266 = lL{' 156 ¢m

Neleds 4158 — |lso = Z-23C... Lins of pamt

So 13 whole tins

Answer | 2 tins

[]

20
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15. A family wants to cover this garden with grass.
B 5.65m R
4
418 m
v 2 -4
) 8.12m

They will buy grass as turf in square metres (m?).

The family finds these prices online:

Not drawn to scale

Cost per square metre (m?)

Must buy a whole number of square metres

£5.00 £3.80 £4.50 £5.00

£4.25 £6.00

The family wants to pay the same amount as the modal cost.

How much will it cost to cover the entire garden in turf?

Show your working.

Aveea o—{ redo\vxg\e_ S 4 1 AS-6S T 2% - pIN ¥\

Avea of kviargel = o rL W) - S22 m"
2

Folalaper = 25610+ 51623 = 2% -11923m° So 29 wlhhsle m

Mmode = 16 (0\5 t 0\??(0\/5 J—WILQ\

(ssk= 2axfs = Fi45

Answer | £ (S

[6]

21
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This is the end of the assessment.






